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1. Consider the following statements regarding Large Area Certification (LAC) programme: 

1) It is programme under scheme of Paramparagat Krishi Vikas Yojna (PKVY).  

2) Under LAC, each village in the area is considered as one cluster/group.  

Which of the above is/are correct?  

a) 1 only                             b) 2 only                          c) Both 1 and 2                      d) Neither 1 nor 2 

 

2. On which Planet was oxygen extracted recently from its atmosphere for the first time? 

a) Jupiter                           b) Neptune                             c) Mars                                  d) Saturn 

 

3. Consider the following statements regarding two children policy of Maharashtra: 

1) It stipulates that a person is not eligible for a job with Maharashtra Government if he or she has 

more than two children after 2005. 

2) The definition of child under these rules does not include adopted children. 

Select the correct answer from the codes given below: 

        a) 1 only                             b) 2 only                            c) Both 1 and 2                       d) Neither 1 nor 2 

 

4.  the following statements : 

1) Every Judge of a High Court shall be appointed by the Governor warrant under his hand and seal.  

2) A Judge may be removed from his office by the President in the manner provided in clause ( 4 ) of 

Article 124 for the removal of a Judge of the Supreme Court. 

Select the correct answer from the codes given below: 

a) 1 only                               b) 2 only                              c) Both 1 and 2                d) Neither 1 nor 2 

 

5. Consider the following statements regarding Financial committees of Parliament: 

1) The estimates committee has 22 members, all from the Lok Sabha. 

2) The public accounts committee has 22 members — 15 elected from the Lok Sabha and seven from 

the Rajya Sabha. 

Select the correct answer from the codes given below: 

a) 1 only                               b) 2 only                              c) Both 1 and 2                      d) Neither 1 nor 2 

 

6. Consider the following statements regarding Vehicle Scrappage policy: 

1) Old vehicles will have to pass a fitness test before re-registration and as per the policy government 

commercial vehicles more than 10 years old and private vehicles which are over 15 years old will be 

scrapped. 

2) The state governments may be advised to offer a road-tax rebate of up to 25% for personal vehicles 

and up to 15% for commercial vehicles to provide incentive to owners of old vehicles to scrap old 

and unfit vehicles. 

Select the correct answer from the codes given below: 

a) 1 only                           b) 2 only                        c) Both 1 and 2                        d) Neither 1 nor 2 
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7. Consider the following statements regarding Aditya-L1 mission: 

1) It is India’s first solar mission which will be launched using the Polar Satellite Launch Vehicle 

(PSLV) .  

2) It seeks to study the Sun’s corona, solar emissions, solar winds and flares, and Coronal Mass 

Ejections (CMEs), and will carry out round-the-clock imaging of the Sun. 

Select the correct answer from the codes given below: 

        a) 1 only                         b) 2 only                            c) Both 1 and 2                      d) Neither 1 nor 2 

 

8. Which country launched robot prototype Neo 1 capable of catching space debris with net? 

a) China                                 b) Japan                           c) USA                               d) India 

 

9. Which of the following country is not a part of Supply Chain Resilience Initiative (SCRI)? 

a) India                          b) Japan                              c) Australia                                d) South Africa 

 

10. Consider the following statements regarding Python 5 

1) It is a Air to Air missile whose maiden trial was conducted by DRDO.  

2) It aimed to validate enhanced capability of Derby Beyond Visual Range (BVR) AAM on Tejas.  

Select the correct answer from the codes given below: 

a) 1 only                             b) 2 only                               c) Both 1 and 2                     d) Neither 1 nor 2 

 


